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I x mwn: Status of nYan who “births” a piece (of flesh) vis-a-vis N1 nrnw
a  opom if there is 07 with it, she is 71 NRNY; if not — NNV
b 777 71 in either case, she is RNV

i

ii

Dispute 5xmw/pny “r. range of dispute between nman/nmin "
1 Sxmpw: o™ only found rnv if piece had color of 4 types of 07 (see above, 1:7); if another color, all agree nmnv
2 jpnp /7 if it has one of 4 colors, all agree nxnv; if any other color, all agree nmno
(a) Dispute: if we can’t see it — N1 "1 follows 217, which have one of 4 colors; 1127 don’t follow 211 here
3 Challenge: xn»7a — if she has a n%an which is red, black, green or white
(a) If: it has blood with it, N nrnv; if not — NV
(b) Dissent: nT1 1 — nknv whether or not there is 07
(¢) This challenges 5N1. in one point — he claimed that nT "1 was only ®nvn if it had 1 of 4 colors — but
here, nT1? "7 is Xnvn green and white
(i) Proposal: perhaps N '3 only disagrees about red and black
(if) Block: if so, why mention white and green at all? (certainly not for 1327, who are even 1nvn if red/black)
(d) And challenges 219> /7. in two points — that 1327 agree that red/black is xno
(i) Proposal: perhaps 1321 only disagree about white and green —
(if) Block: for whose opinion is red/black mentioned? (not for nmn’ "1, who even holds green/white xnv)
4 Rather (»7277): they disagree as to whether 1apn nn'na (opening of uterus) is possible w/o o7
(a) Following: dispute of mRin
(i) an79x if she had nwop for 2 days and had n%an on 3¢ day
1. o2pom: nRMV pao — brings N9 129p which isn’t eaten
2. ywyp ‘7 RN NRMY, brings 127p and is eaten (either she is nT9y or nar) — impossible to have p”na w/o 07
Alternate version of this 2210 only cites YRV, brings Xn»»11 and determines that 0T 8% p”na% 9war is the ny>nnn Yoo

¢ w7z if a woman is 9290 a formed piece, ©1IMD (quoting n™) — tear it open, if 07 inside, NxNY; if not — TNV

i
ii
iii

iv

Compare with nywm: like 1127 (require 0T) but more vnnn — if found inside, Nkno

N1717772: RNR "1 = if inside is reddish, nxknv (further than ©v1aMD)

N177772: 1221 ") — tear piece open; if bone found inside, nT"% NRNL (supporting kn>»7a from 21N)

1 ~70m "1 must be white piece

72m? 71 (quoting »”7aw7): open up piece; if collected o7 inside, N9 nknv (like VIINID but more lenient)

d  Question (871 710 17072 739): if she saw 07T in a tube, is that Xnv?

i
ii

iii

Lemmal: v. 1 indicates n7w1a =» but not in a tube
Lemma2: v.1 - n1waa - teaches that she is Xnvn even 0291 (while 07 is in M TMM9)
1  Answer: v. 1 excludes n7 seen in a tube; 02191 could be inferred from "wa”; nqwaa teaches both
2 Challenge: 13nv "1 (*"av7 DW1 — above) — if 07 is inside n2’nn — she’s RNV
(a) Answer: it is normal to have n7 inside a N2'nn; not to have o7 inside a tube
Proposal: maawa o7 is a dispute among DRI, per Rn»a:
1 jp’m: if she has a nYan of a piece, even if it is filled with o7, only nxnv if there is o7 with it (outside of piece)
(a) 7m5% ’1 nwa1 - but not in the sack, nor in a piece (of flesh)
(b) Question: isn’t R™ the same as p"n?
(c) Answer: read “ImR IMYHYR 1177 i.e. R™'s W11 is brought to support p'n
2 p’par maintain that it isn’t 0T 07, but n2’nn o7
(a) Challenge: then nnan are still 7non (and don’t disagree with 8*1/p"n)
(b) Answer: they disagree in case of piece which is cut open
(i) &7 "1 —neither in 19w, nor in piece — nor in tube; however — only if smooth; if broken apart, "n waa”
1. Therefore: also if found in nm9w, considered NMnV (since it is smooth)
(if) p2p3m even if broken up, not N1 7 rather, it is N3N 0T (MNV)
a. But: 0T D7, even in NIMaw, is RNV
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3 Rejection (728): R and pnon agree that 07in a tube is 1nV; disagreement if 07 is found in piece
4 Alternative (x¥27): all agree that it isn’t usual to find o7 in piece; disagreement is whether xnv ympn Npn
(i) &7 she is NV, but 07, which touched Mpn, is kv
(ii) 237she is NNV and so is NP MIPN (DT is NNV)
e  Parallel question (82771 71 7137): if a man sees 1"® on a small stick (e.g. toothpick) — xnv?
i Lemmal: v. 2 indicates 1101 — must come out of his flesh and not via a stick
ii ~ Lemma2: v.2 needed to teach that it isn’t Xnv until it leaves his body, but could even be via a stick
1 Answer: infer from the fact that he isn’tknv until opening of nnr is filled (i.e. v’y takes part of that space=>»11nv)
2 Consideration: perhaps he is Xnv since he had yin with the 1"v?
3 Ifso: this shouldn’t interrupt n»p1 't for a ar — but, per Xn»11 (on v. 2) — "v does interrupt 't n1av
(a) Answer: it interrupts it, since it is impossible for there to be p without some “flecks” of nat
(b) Challenge:if so, should interrupt all 7 days; na%n is that it only cancels out one day
(i) Answer: thatis 3"nt — full n21 cancels all days; »1p, which has some “flecks” of na’t, cancels only 1
f  Question (8”» 1n7177): is dried blood ®nv?
i Lemmal: v. 3 indicates that it is flowing (n% only)
ii ~ Lemma2: v. 3 is just describing a typical circumstance, but not excluding w2’ o7
1 Answer: R - 1T 07 and NN W1 are ®knvn whether moist or dry
2 Response: not asking about moist that dried out; only about dry ab initio
(a) Answer: also taught — 2:7 171 RnavIN — if she is 97an a peel, a hair, dirt, red gnats — put in water
(i) If: it melts — nrnw (i.e. dry is 8nv, as long as know that it was o7
(if) Note (727): if they don’t melt, they are considered a unique organism (stories to confirm such phenomena)
(iii) Note (57): must be melted in lukewarm water
1. 8172272 use lukewarm water; 3"2w1 — she should mash with spit on her fingernail
2. Dispute: whether mashing by force is a valid test (3”awn — valid)
(iv) Question: in re: nYan 7w, must be soaked for 24 hours — same here?
1. Lemmal: only n%an p7w which are hard, 24 hours needed to melt; but not 01, which is soft
2. Lemma2: no difference - yp'n
II 2 mwn: status of woman who miscarries various shapes vis-a-vis 071 nkmv and (possibly) n75 nrmvo
a If:itis like a peel, a hair, dirt or red bugs, she should put in water
i If: it melts — nT1 NRNY; if not — NNV
b  If:itis shaped like fish, locusts or rodents
i If: there is blood with it, N3 nXnY; if not — nMNo
1 Question: why doesn’t N> 7 dissent here as well?
2 Answerl (57): he does disagree; this nywn represents 1327’s position
3 Answer2 (1317 9): he assents here (mwn is matter of consensus);
(a) Explanation: nmn 1 only disagrees re: piece of flesh, where 7 is likely to coagulate, but not a 12
(b) Note: according to that version that 13m "1 (above) ruled that p”na must have o7 with it, why doesn’t nTi "2
disagree there?
(i) Answer: that version of 13nv "3 would have 11y "1 agreeing with 9" here and mwn is only 1127, not nTi’ A
¢ If:itis shaped like a mammal or fowl (D110 or DRNY)
i p77. if it is male — has 7219 19 nrMV; if female — napy NT9Y NrRMV; if unclear — “serves” both terms
it~ opom: If it isn’t shaped like a human baby — no n19v nxmv

© Yitzchak Etshalom 2012 ™0 www.dafyomivicc.org




